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91156  Demonstrate understanding of life processes 

at the cellular level

9.30 a.m. Monday 16 November 2015 

Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of life 
processes at the cellular level.

Demonstrate in-depth understanding of 
life processes at the cellular level.

Demonstrate comprehensive 
understanding of life processes at the 
cellular level.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more space for any answer, use the page(s) provided at the back of this booklet and clearly 
number the question.

Check that this booklet has pages 2 – 12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Excellence

23

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.

























E - Score of 23 

Question Commentary 

1 The candidate is awarded E8 as they have clearly discussed how the full 

range of factors can affect the rate of enzyme action and respiration. They 

have given comprehensive explanations of how each factor affects rate in 

multiple ways and have linked these clearly to the process of repiration. 

2 The candidate provides evidence of comprehensive understanding of 

transport both with regards to the Lugworm and the Hogchoker. The 

increased O2 consumption in the Hogchoker is clearly related to the 

increased salt concentration increasing the rate of active transport and 

therefore the rate of ATP consumption. 

3 The candidate is awarded E7 as they have clearly justified why plants in a 

shaded area have larger chloroplasts. They have made links to the process 

of photosynthesis, the structure and the environmental conditions for this 

aspect of the question. To gain an E8, the candidate would need to relate the 

distribution and movement of chloroplasts to greater efficiency of 

photosynthesis. This has not been completed successfully in this response. 

 

 


